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1. Two bulbs of 500 W and 200 W rated at 250 V

will have resistance ratio as-

(a) 2 : 3 (b) 2 : 5

(c) 3 : 2 (d) 5 : 2

2. In the network shown in the figure below, the

current in the 12 Ohm resistor is 5 Amp, the

battery voltage E is

4 

18 

6 

4 12 

E

5 A

(a) 120 Volts (b) 180 Volts

(c) 300 Volts (d) 310 Volts

3. Which of the following options is true for the

given circuit ?

2 

I1

40 V

I2

4 

40 V

(a) I
1 

= –2I
2

(b) I
2
 > I

1

(c) I
1 

= 2I
2

(d) No current in the loop

4. Calculate G
eq

 in the following circuit.

Geq

8 S 4 S

6 S2 S

12 S

(a) 8 S (b) 4 S

(c) 0 S (d) 10 S

1. 250 V ij jsVsM 500 W vkSj 200 W ds nks cYcksa ds

izfrjks/k dk vuqikr D;k gksxk-

(a) 2 : 3 (b) 2 : 5

(c) 3 : 2 (d) 5 : 2

2. uhps fn, x, fp= esa fn[kk, x, usVodZ esa] 12 Ohm

dk izfrjks/k esa 5 Amp /kkjk gS] cSVjh oksYVst E gS

4 

18 

6 

4 12 

E

5 A

(a) 120 oksYV (b) 180 oksYV

(c) 300 oksYV (d) 310 oksYV

3. fuEufyf[kr esa ls dkSulk fodYi fn, x, ifjiFk ds

fy, lgh gS \

2 

I1

40 V

I2

4 

40 V

(a) I
1 
= –2I

2

(b) I
2
 > I

1

(c) I
1 
= 2I

2

(d) ywi esa dksbZ /kkjk ugha

4. fuEufyf[kr ifjiFk esa G
eq

 dh x.kuk djsaA

Geq

8 S 4 S

6 S2 S

12 S

(a) 8 S (b) 4 S

(c) 0 S (d) 10 S
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5. Find the value of v
R
 in the given network

2 A12 A

iS

vR

iR25 

vm

(a) 12 V (b) –12 V

(c) –50 V (d) 50 V

6. Atom of any elements.

(a) Positively charged

(b) Uncharged

(c) Negatively charged

(d) Charged positive or negative

7. In the following circuit, determine the equivalent

resistance between A and B.

A

B
15

10

46

(a) 8.4  (b) 4 

(c) 2.5  (d) 6.8 

8. Which of the following statements does not

represent ohm’s law.

(a) Current / potential difference = constant

(b) Potential difference / current = constant

(c) Potential difference = current × resistance

(d) Current = resistance × potential difference

9. The figure shown here is a branch of an electric

circuit where current is flowing from A to B.

Find the value of voltage (V
A
 – V

B
).

2 A
A B

5 

16 V10 V

3 

(a) 5 V (b) 10 V

(c) 30 V (d) 20 V

5. fn, x, usVodZ esa v
R
 dk eku Kkr djsa

2 A12 A

iS

vR

iR25 

vm

(a) 12 V (b) –12 V

(c) –50 V (d) 50 V

6. fdlh Hkh rRo dk ijek.kq gksrk gSA

(a) /kukRed vkosf'kr

(b) vukosf'kr

(c) _.kkRed vkosf'kr

(d) /kukRed ;k _.kkRed vkosf'kr

7. fuEufyf[kr ifjiFk esa] A vkSj B ds chp lerqY;

izfrjks/k fu/kkZfjr djsaA

A

B
15

10

46

(a) 8.4  (b) 4 

(c) 2.5  (d) 6.8 

8. fuEufyf[kr esa ls dkSulk dFku vkse ds fu;e dk

izfrfuf/kRo ugha djrk gSA

(a) /kkjk@foHkokarj = vpj

(b) foHkokarj@/kkjk = vpj

(c) foHkokarj = /kkjk × izfrjks/k

(d) /kkjk = izfrjks/k × foHkokarj

9. fn[kk, x, fp= fo|qr ifjiFk dh 'kk[kk gS tgk¡ A

ls B dh vksj izokfgr gks jgh gSA oksYVst (V
A
 – V

B
)

dk eku Kkr dhft,A

2 A
A B

5 

16 V10 V

3 

(a) 5 V (b) 10 V

(c) 30 V (d) 20 V
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10. For the circuit shown in the figure below. the

switch has been in the position A for a long

time. At t = 0 the switch has moved to B. then,

the capacitor voltage V
C
(t) for t > 0 is :

40 V 5 k
0.5 mF V (t)C

t = 0

A B 4 k

30 V

3 k

(a) V
C
(t) = (24 – 6e–2t) V

(b) V
C
(t) = (30 – 15e–0.5t) V

(c) V
C
(t) = (6 – 6–2t) V

(d) V
C
(t) = (30 – 5e–0.5t) V

11. Determine the value of current I
1 
in the following

circuit.

2 6 4 

30 A

V 8 A

I2

I1

I3

(a) 6 A (b) –4 A

(c) 12 A (d) –6 A

12. For given circuit, current through 3  resistance

is :

6 V

3 
4i

i 4 

A Bi

(a) 2 A (from A to B)

(b) 3.5 A (from B to A)

(c) 1.7 A (from B to A)

(d) 3 A (from A to B)

10. uhps dh vkÑfr esa fn[kk, x, ifjiFk ds fy, fLop

yacs le; ls A dh fLFkfr esa gSA t = 0 ij fLop B esa

LFkkukarfjr gks x;k gSA fQj] t > 0 ds la/kkfj= oksYVst

V
C
(t) gS&

40 V 5 k
0.5 mF V (t)C

t = 0

A B 4 k

30 V

3 k

(a) V
C
(t) = (24 – 6e–2t) V

(b) V
C
(t) = (30 – 15e–0.5t) V

(c) V
C
(t) = (6 – 6–2t) V

(d) V
C
(t) = (30 – 5e–0.5t) V

11. fuEufuf[kr ifjiFk esa /kkjk I
1
 dk eku Kkr djsa &

2 6 4 

30 A

V 8 A

I2

I1

I3

(a) 6 A (b) –4 A

(c) 12 A (d) –6 A

12. fn, x, ifjiFk ds fy,] 3  izfrjks/k ds ek/;e ls

/kkjk gS&

6 V

3 
4i

i 4 

A Bi

(a) 2 A (A ls B rd)

(b) 3.5 A (B ls A rd)

(c) 1.7 A (B ls A rd)

(d) 3 A (A ls B rd)
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13. In the given figure the potential difference

between points P and Q is

2 

10 V8 6 

2 A

P
4 

Q

(a) 10 V (b) 12 V

(c) –6 V (d) 8 V

14. Consider the electrical network below :

10 V 3 A R 2 A

Determine the value of 'R' so that current through

voltage source is zero.

(a) 2  (b) 5 

(c) 4  (d) 3 

15. In the given circuit V
1 

= 40 V when R is 10 .

When R is zero, the value of V
2
 will be

60 V 5 A20 

10 

V1 V2

20 20 

10 R

(a) 40 V (b) 30 V

(c) 20 V (d) 10 V

13. nh xbZ vkd̀fr esa fcUnq P vkSj Q ds e/; foHkokarj

gksxk

2 

10 V8 6 

2 A

P
4 

Q

(a) 10 V (b) 12 V

(c) –6 V (d) 8 V

14. uhps fn, x, fo|qr uSVodZ  ij fopkj djsa %

10 V 3 A R 2 A

'R' dk eku Kkr djsa rkfd oksYVst L=ksr ls cgus

okyh /kkjk 'kwU; gksA

(a) 2  (b) 5 

(c) 4  (d) 3 

15. fn, x, ifjiFk esa] V
1 
= 40 V gS tc R = 10 gSA

tc R = 0  gS] rc V
2 
dk eku gksxkA

60 V 5 A20 

10 

V1 V2

20 20 

10 R

(a) 40 V (b) 30 V

(c) 20 V (d) 10 V
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16. The Thevenin resistance across the terminals AB

in the given network is

3 

2 

2 

1 A

2 

A

B

1 V

(a)
10

3
 (b)

20

3


(c)
13

4
 (d) 

4

3


17.  Two identical 3 V, 1  batteries are connected

in parallel with like polarity. Norton equivalent

of the combination is

(a) 3 A, 0.5  (b) 6 A, 1 

(c) 3 A, 1  (d) 6 A, 0.5 

18. Find the power p(t), supplied by the element

when V(t) = 4 cos3t V and i(t) = 
1

12
 sin3t A.

V(t)

i(t)

(a) p(t) = 
1
6

cos6t WW

(b) p(t) = 
1

6
sin3t WW

(c) p(t) = 
1

12
sin6t WW

(d) p(t) = 
1
6

sin6t WW

19. The terminals of a lead acid battery  is made up

of

(a) Lead (b) Copper

(c) Zinc (d) Brass

16. fn, x, usVodZ esa VfeZuyksa AB ds ,Økl Fksosfuu

izfrjks/k gS

3 

2 

2 

1 A

2 

A

B

1 V

(a)
10

3
 (b)

20

3


(c)
13

4
 (d) 

4

3


17. nks leku 3 V, 1  cSVfj;k¡ leku /kzqork ds lkFk

lekukUrj esa tqM+h gqbZ gSaA la;kstu dk ukWVZu lerqY;

gS

(a) 3 A, 0.5  (b) 6 A, 1 
(c) 3 A, 1  (d) 6 A, 0.5 

18. tc V(t) = 4 cos3t V vkSj i(t) = 
1

12
sin3t A  fn;k

x;k gS] rc rRo }kjk vkiwfrZ fd xbZ 'kfDr p(t) dk

eku Kkr djs &

V(t)

i(t)

(a) p(t) = 
1

6
cos6t WW

(b) p(t) = 
1

6
sin3t WW

(c) p(t) = 
1

12
sin6t WW

(d) p(t) = 
1

6
sin6t WW

19. ysM-,flM cSVjh ds VfeZuy cus gksrs gS &

(a) ySM dh (b) rk¡cs dh

(c) tLrs fd (d) czkl dh


